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RNN "Y's ruling re: 1981 °% Mo (when the seller didn’t bother to count the coins)
a v Pap is valid and the rule of nknr applies
i ppisvalid, even if he didn’t yet take the goods — since it’s like pa'9on
ii ~ nRNR applies, because he said 711
b xar " pipis valid, rule of nk1R does not apply, as it should be considered fully paron
¢ Discussion: it's clear that if he buys, using money as coin, and doesn’t care about the amount — np
i Question: what if it is done as 1a"%n but he shows that he cares about the amount of coins —
1  Lemmal: since the transaction is a'9n, the 1mp is valid without na»wn OR
2 Lemma2: since he demonstrates that he is 7°9pn on the amount, it should be treated as om7
it Suggested solution (737718 73 878 "): if A offers to buy B’s donkey for his cow and they set values, p1p isn’t complete
until both have taken their respective purchases - if they are Tapn on the amount, no p pre-na»wn
1 Challenge (837): in all cases of P2y, the buyer is certainly Tapn on the value,
2 rather: in that case, 19N was sold for 118 and a lamb, so the n2*wn (of the cow) was incomplete > no ip at all
d  conclusion: Rnn "1 seems to hold that a coin may be a vehicle for payn
i rejection: he holds like 13 "3, that n”nn money generates the y1p; N2>wn was introduced as a condition of a valid
11p to protect buyer, but that was only applied to normal commerce, not an odd case like 19&1 55 7191
ii  support: we have an explicit ruling that 8110 "7 stated that coins are not a valid vehicle for pa%n
Dispute n%/31 re: whose 93 is used for the pa¥on
a 179 of the buyer — since the seller receives the 53, he wholeheartedly sells the goods
i Support: pn in associated ®n>3, interpreting vv. 1-4
1 am73xv. 1indicates that %R (sale, as per v. 3) and nmnn (929N as per v. 4) are done with Yp1 navvw
(a) p’m: the genitive in the last word of v. 2 “¥o»1” points to 112
b n9:95 of the seller,
i Support: n'Ti 7 in associated ®n»3, interpreting vv. 1-4; the genitive in the last word of v. 2 “15»1” points to ™Y
ii  Challenge: it seems as if the land (being sold) is purchased 23x the "9 (or shoe)
1 Explanation: this reverses the mode of 1R P1p in N:R PWITPP —land is the base, pYvYvn “tag along”
2 Defense: it isn’t bought with the *93, rather with the nxin that the recipient is accepting the *92
Dispute 11/v" re: using m1°a as vehicle of pavyn
a X2 we may use a 93 worth less than nvma mw
i 1™:only applies to a 93 (akin to Y1 in v. 1), but not ma (excluded from pa¥on) — must be v MY
ii ~ w™:even applies to M9, as 727 %5 ©pY extends beyond 5y3
1 2:917 93 opY extends range of 9y1 to all forms of transaction
2 w™: Y defines vehicle of 917p as a complete item, excluding half a fruit (e.g.)
b Analysis of language of 90w which testifies to p2>>n pap — 72 kPS> WIT RIN2
i R —supports 1”1 (not fruit)
ii 7wy - excludes ®p1n (which YRnw allows; several interpretations of word all point to degrading vessel)
iii  RnpnY — contra "% — must be vessel owned by nnp
iv. 1 - 9™ — excludes coin; 71t "3 (or YOR 1) — excludes nRin MMoOR
1 Version: 1’a — excludes coin and w3 excludes nXrin ™Mo'R, but Xp1an is obviously excluded
Analysis of clause in our mwn — poR; definition
a 17 atoken used for the bathhouse attendant
i Challenge: that description (702 panvin myn) is used along with nor (in list of invalid objects of w"yn 59n)
1 Suggestion: perhaps the one explains the other
2 Rejection: Roy1 " validates but n'non invalidate use of 1/Y0R, but they agree that ...Pan%n myn may not be used
b pnr 1 a coin without an image (metal slug) Proof: 1nv 1 claimed that X0y 1 and YRynw’ "3 concurred:
i NDI7 77 as above — may use OR for W'y YoM
ii ~ Snypw’ 7. contra ™ in interpreting v. 5; ™ invalidates use of slug, whereas »" permits
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